
P a g e  | 1 

 
Term Exam (September 2022)  

Mathematics 

Class-VI 

Time Allowed : 3 Hrs                                                                                                   Maximum Marks : 80 

zrUrI not/Important Note :  
1. swry pRSn zrUrI hn[ All questions are compulsory. 

2. Bwg-a pRSn 1 qoN 3 q`k hoxgy[ In Part-A Questions are from 1 to 3. 

i. pRSn 1 ivc̀ 16 pRSn bhu-ivklpI au~qrW vwly 1-1 AMk vwly hoxgy[ 

      In Question 1, there are 16 multiple choice questions each carry 1 mark. 

ii. pRSn 2 iv`c 8 pRSn shI/glq au~qrW vwly 1-1 AMk vwly hoxgy[ 

In Question 2, there are 8 True/False each carry 1 mark. 

iii. pRSn 3 iv`c 8 pRSn KwlI sQwn Brn vwly 1-1 AMk vwly hoxgy[ 

In Question 3, there are 8 fill in the blanks each carry 1 mark. 

3. Bwg-A iv`c swry pRSn do AMk vwly hn[ 

In Part-B, each questions carry 2 marks.  

4. Bwg-e iv`c swry pRSn cwr AMk vwly hn[ iehnW pRSnW iv`c iksy vI iqMn pRSnW iv~c AMdrUnI 
Cot hovygI[ 

In Part-C, each questions carry 4 marks. There will be an internal choice in any three of 

these questions. 

 

Bwg-a / Part-A 
1. hyT id`qy pRSnW iv`co shI ivklp cuxo[hryk pRSn dw 1 AMk hY[                      1 x 16=16 

Choose the correct option from the following questions. Each carries 1 mark. 

(i) 7 × 0 = ………. 
a)   7            b)   0                 c)   1            d)  6 

(ii)  jykr 138 nUM 11 nwl Bwg kIqw jwvy qW bwkI hovygw: / If 138 is divided by 11 then remainder will 

be:                                                                                              
a)  5             b)  4          (c)  1             d)  6 

(iii) hyT iliKAw iv`coN ikhVw ArQhIx hY?/ Which of the following is meaningless? 

 a)   L            b)  LXIX       c) XC            d) VL 
(iv) idKwey gey ic`qr Anuswr sYNkVy vwly c`kr ivcly bMitAW dI  

igxqI dw sQwnk mu`l kI hovygw?  
 In the given figure, what will be the place value of  

number of marbles in hundred’s circle? 

a)  3000      b) 2000     c) 400         d)  5000 
(v)  iqMn AMkW dI v`fI qoN vf̀I sMiKAw dw Agyqr hY:  
        Successor of  three digit greatest number is:                                                                                                                                                                                                         

a)  100       b) 998       c) 1001       d)  1000                                                            
(vi) hyT iliKAW ivc̀oN ikhVw id`qI sMiKAw ryKw qy drswieAw igAw hY?  
 Which of the following is represented on given number line? 

a)  2 + 8      b)  2 + 6      c) -2 + 8     d)  -2 - 6 

(vii) hyT iliKAW iv`coN ikhVI 4 nwl BwjXog hY? 

             Which of the following is divisible by 4? 

             a)   51062          b)    51063        c)   51064       d)  51065 
(viii) 1 qoN 20 qk̀ ABwj sMiKAwvW dI igxqI ikMnI hY? 

 How many prime numbers there from 1 to 20?                                                                                        
a)   9                 b)   10                      c)   8                       d)   12 

(ix)  id`qw ic`qr drswauNdw hY: / Given figure shows: 
               a) +3 + 7    b) -3 + 7     c) +3 - 7     d) iehnW ivc̀oN koeI nhIN 
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(x)    hyT iliKAW iv`coN ikhVI sMiKAw -3 qoN v`fI hY? 

       Which of the following number is greater than -3? 

 a) -5   b) -4  c) 0   d) -10 

(xi) id`qy ic`qr ivc̀ CwieAw AMikq Bwg ikhVI iBMn nUM drswauNdw hY? 
In the given figure, shaded portion shows which of the following fraction? 

a)  
 

 
                b)   

 

 
                   c)   

 

 
                 d)  

 

 
    

(xii)  
 
,   
  
 
  

  
 ikhVIAW iBMnW hn? 

 Which type of fractions are  
 

 
, 
  

  
 
  

  
? 

 a)  smwn / like     b)  Asmwn / unlike     c) qul / equivalent      d) iehnW iv`coN koeI nhIN / none of these  

(xiii) hyT iliKAW ivc̀oN ikhVI dSmlv sMiKAw sB qoN vf̀I hY? 
 Which of the following decimal number is greatest?                                                                                                        

(a)  0.5                    (b) 0.05    (c) 0.55              (d) 0.505 

(xiv)  50 pYsy = ……rupey  / 50 paise = Rs.……  
 (a)   0.015     (b)   0.15     (c)   1.5                (d)   15 

(xv) jykr eISw hr mhIny 48290 rupey dI bcq krdI h qW 2 swl bwAd aus kol ikMnI rkm hovygI? 
 If Isha saves Rs. 48290 every month, then what amount she would have after 2 years? 

 (a) Rs. 1158960       (b) Rs. 1152607    (c)  Rs. 1153600     (d)  Rs. 114800 

(xvi) hyT iliKAW iv`coN ikhVI Axauicq iBMn hY? / Which of the following is an improper fraction? 

 (a)   
 

 
                       (b) 

  

 
       (c) 

 

 
        (d) 

 

  
 

 

2. id`qy pRSn leI shI/glq au~qr cuxo[hryk pRSn dw 1 AMk hY[                       1 x 8 = 8 

 Choose True/False for given question. Each carries 1 mark. 

     (i)  795 – 199 = 596                                                       (shI, glq)/(True, False)  
(ii) iqMn sO Cy Aqy s`q sOvW dw dSmlv rUp 306.7 hY[                                     (shI/glq) 

Decimal form of  “Three hundred six and seven-hundredths” is 306.7                    (True/False) 
(iii) 4123 ivc̀ AMk 2 dw sQwnk mu`l 2 hY[                                                (shI/glq) 

Place value of digit 2 in 4123 is 2                                                                                   (True/False) 

(iv) sB qoN CotI pUrn sMiKAw 1 hY[                                                         (shI/glq) 
Smallest whole number is 1                                                                                                      (True/False) 

(v) sMiKAw 35, 7 dw guxj hY[                                                            (shI/glq) 
Number 35 is multiple of 7                         (True/False) 

(vi) -3 Aqy 3 dy ivckwr 6 sMpUrn sMiKAwvW hn[                                          (shI/glq)  

There are 6 integers between -3 and 3                               (True/False)  

(vii)  
  

  
 ie`k auicq iBMn hY[                                                                (shI,glq)                                            

  

  
 is a proper fraction.                                               (True,False) 

(viii)   
 

   
  = 0.7                      (shI,glq)/(True,False) 

 

3.  KwlI sQwn Bro[ hryk pRSn dw 1 AMk hY[                  1 x 8 = 8 
 Fill in the blanks. Each carries 1 mark. 

(i)     
 

 = …………                                             (725/72.257250/ 0) 

(ii) (9 – 4) × 6  = ……                        (30/36/24/0)  

(iii) 15 × 1 = ……                                                                  (1 / 15 / 0 / 150)  
(iv) 5 × …….= 30                                                                    (150 / 15 / 6 / 1) 
(v) sB qoN CotI Bwj sMiKAw …….. hY[                                                   (1 / 2 / 4 / 6) 

 Smallest composite number is …………..                                                                     (1 / 2 / 4 / 6) 

(vi) (-2) + 8 = ………….                                                              (-6 / -4 / 6 / -16) 
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(vii)   

 
 = ………….                                                                  (   

 
 / 
  

 
 / 
  

 
 / 
  

 
 ) 

(viii) 2.5 = ……….                                                                     (  
 
 /  

 

 
 / 

  

   
 / 
 

 
 ) 

 

Bwg-A / Part-B                                                                                          
not: hryk pRSn 2 nMbr dw hY[                           2 x 8=16 
 Each carries 2 marks. 

4. srl kro : 14 × 108 

Solve :    14 × 108                                                                       
5. guxnKMf ru`K ivDI rwhIN 196 dy ABwj guxnKMf pqw kro[                                                

Find prime factors of 196 by factor tree method . 
6. 0, -7 -9, 5, -3, 2, -4 sMpUrn sMiKAwvW nUM v`Ddy kRm iv`c ilKo[ 

Write integers 0, -7 -9, 5, -3, 2, -4 in increasing order.                                                                                        
7. h`l kro : (-18) + 13  

Solve :     (-18) + 13  

8. iBMn   
 
 nMU imSirq iBMn ivc̀ ilKo[   

Write 
  

 
 into mixed fraction.                                                          

9. 
 

 
 dIAW koeI vI iqMn qu`l iBMnW ilKo[                                                                                                                 

Write any three equivalent fractions of 
 

 
  

10. dSmlv dI vrqoN krky 35 pYsy nUM rupey ivc̀ bdlo[           
Using decimals, convert 35 paise into rupees. 

11. iBMn    
   

 nUM dSmlv rUp iv`c bdlo[  

Write fraction 
   

   
 into decimal form.  

                                                                        

Bwg-e / Part-C                                 
not:    hryk pRSn 4 nMbr dw hY [                           4 x 8=32  

            Each carries 4 marks. 

12. cOxW iv`c sPl aumIdvwr nUM 6317 votW imlIAW jdoN ik nyVly ivroDI aumIdvwr nUM 3761 votW imlIAW[ 
sPl aumIdvwr ny Awpxy ivroDI nUM ikMny Prk nwl hrwieAw? 

In an election, the successful candidate registered 6317 votes whereas his nearest rival could 

attain only 3761 votes. By what margin did the successful candidate defeats his rival? 

13. mu`l pqw kro:  493 × 8 + 493 × 2   

Evaluate:        493 × 8 + 493 × 2 

jW/OR 

 

Fu`kvyN gux dI vrqoN nwl mu`l pqw kro: 738 × 103   

Evaluate using suitable property: 738 × 103 

14. sMiKAwvW 72, 84 dw l.s.v. pqw kro[    
Find LCM of numbers 72, 84 

jW/OR 

 

 sMiKAwvW 180,192 dw m.s.v. ABwj guxnKMf ivDI nwl pqw kro[ 
 Find HCF of numbers 180, 192 by prime factorization method. 

15. cwr AMkW dI v`fI qoN v`fI sMiKAw jo 12, 18, 30 nwl pUrI pUrI Bwg hovy[ 

Find the greatest 4- digit number exactly divisible by 12, 18 and 30     

16. sMiKAw ryKw dI vrqoN krky sMpUrn sMiKAwvW dw joV pqw kro: 9 + (- 6) 

By using number line find sum of integers: 9 + (- 6) 
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17. h`l kro : (-15) - (- 18) 

Solve  :    (-15) - (- 18) 

 

jW/OR 

 

h`l kro: (23) - (- 12) 
Solve :    (23) - (- 12)                                                  

18. h`l kro:   
  

 -  

  
 -  

  
 

Solve :    
  

  
 -  

  
 -  

  
 

19. SIql dI jyb ivc̀ 190.5 rupey hn[ auh 123.99 rupey dw skUl bYg KrIddI hY[ hux aus kol ku`l 
ikMnI rwSI bwkI hY? 
Sheetal has  ` 190.5 in her pocket. She buys a school bag for ` 123.99. How much money is 

left with her now? 

 


